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paper seal on the edge of this cover page. Do not
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printed on the cover page. Faulty booklets due
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in serial order or any other diserepancy should
be got replaced immediately by a correct booklet
from the invigilator within the period of
6 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will
be given. .
After this verification is over, the Test Booklet Number
should be entered in the OMR Sheet and the OMR
Sheet Number should be entered on this Test Booklet.
Each item has four alternative responses marked (A), (B),
(C) and (D). You have to darken the circle as indicated
below on the correct response against each item.
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where (C) is the correct response.

Your responses to the items are to be indicated in the OMR
Answer Sheet given to you. If you mark at any place
other than in the circle in the OMR Answer Sheet, it will
not be evaluated,.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the
OMR Answer Sheet, except for the space allotted for the
relevant entries, which may disclose your identity, vou will
render yourself Liable to disqualification.

The candidate must handover the OMR Answer Sheet
to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall. The candidate is allowed to take away
the carbon copy of OMR Sheet and used Question Paper
Booklet at the end of the examination.
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ECONOMICS / @gé FRo
Paper - II / %8 - 11

Marshall’s cardinal utility theory

assumes that the marginal utility of .

money :

(A) Remains constant
(B) Increases

(Cy Decreases

(D) Becomes Zero

Income effect is positive for :

{A) Inferior goods

(B) Giffen goods

(C) Normal goods

(D) Both for Inferior and Giffen goods

Linear Isoquant assumes :

(A) Perfect Substitutability
(B) Strict Complementarily
(C) Limited Substitutability

(D) Continuous Substitutability upto
a certain range

Permanent Income theory assumes
that ;

(A) There is strong correlation
between Y, and C,.

{B) There is zero correlation between
Y, and C,.

(C) There is negative correlation
between Y, and C,.

(D) There is simple correlation

between Y, and C,.

1.

(8% Barod (HArado cweP &otnold
58S 238 BArad drposo BdHavo
FHHo

(A) ?860n° = TeTAVIoTal

(B) EHH0S

©) &H%on

(D) Srdgorr dotood

& (80b St worodh (HBarso 38

é@é&éom @oéood ?

(A) RS0 SoHen

(B) A SpHpen

(C) 3%6?265 AMayen

(D) TRBE0 HbBAid ADS BIhHen

R8¢ SBrEHB To & Bod (HDadsnd
EOA @otuod :

(A) DB BEssmohs

(B) PYNSDI HpEBESE

(C) HBDS HeErsEmae

(D) &% $6E S8 JBosY (HEErmoDs

RS o ?oc:;oéo 5(‘0& (BSoako

D06
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D00LH500b.

©) Y, Hbai» C, o5y 20 e
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(D) Y, 508 C, Hgy rerses 350
NowoEnod,




Economic growth means :

(A) An increase in population

(B) An increase in real GDP per capita
(C) An increase in literacy

(D) An increase in mortality rate

Which of the following is a Merit good ?
(A) National Defence

(B) Street Light

(C) Higher Education

(D) Children Park

Haberler’'s opportunity cost theory
replaced which assumption of classical
theory of international trade ?

(A) Perfect competition
(B) Free mobility of factors
(C) Labour theory of value

(D) Existence of free trade

Which sector’s share in India’s national
income declined significantly between
1950-51 and 2015-16 ?

(A) Industrial sector
(B) Agriculture sector

(C) Service sector

(D) All the three sectors
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FoHrrah eodrdab RS RTpoSHm
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9. Which of the following measures of | g (Bo8 D8 Sraredt B2 “Qes Soee
- [¢]

dlsp'eryorj is called “Root mean square ok &é&m SELPO0” © Den ?
deviation” ? a s

(A) Range (A) GJ"ESS.).

(B) Quartile Deviation (B) Hcrod DHedo
(C) Mean Deviation © 57"555353 EAI TSR]
(D) Standard Deviation (D) (@PSrds disodo

10. Which of the following is U-shaped in 10. rogerab éé(ﬁ) ‘00‘060 Bswgo & Bod

the traditional theory of costs ? TAS® 28 U‘@S"ém EOR dotwod ?
(a) Average Variable Cost (a) Do I8 Fgoho
(b) Average Cost k) D[éw éécﬁoo
(¢) Marginal Cost (c) @&Iros S ewTe)
(d) Average Fixed Cost (d)y Jnew ?86 dadho
Codes : 5 :
(A) (a) and (b) (&) (a) 5805 (b)
(B) (b) and (¢ (B) (b) So855% ()
(C) (o) and (d) €©) (o) Bk (d)
(D) (a), (b) and (c) (D) (a), (b) 350635 (¢)
11. Keynes proposed to solve the problem | 11, 5{)635655 .oé):oé:\’)a &2 oooe d&oagboéééaa
of unemployment through : gsa BBIEOIT :
(a) (Iercl;:;z?ns;d money supply in the (@) o8 s 5 o (5 BBHTD Doisto.

(b) 35 Bep Q) wHHdoBKo.

(b) Allowing wage rates to decline.
' () JES HBB» 8 VakhoFweos

(¢) Putting wage and price controls.

. AHosto.

{(d) Increasing Government

expenditure. (d) (Nghds Sgaiedy DosEo.
Codes : 585“) .
(A) (a) and (b) are correct (A) (a) B (b) HBOGHHD
(B) (b) and (c) are correct (B) (b) B (c) SOOI
(C) (a) and (c) are correct (C) (a) Bckw (c) OIS
(D) (d) only correct : D) (d) SrEDH S6FSH
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12.

13.

According to the quantity theory of
money an increase in the money supply
causes :

(a) A proportional increase in velocity.

(b) A proportional increase in prices.

(¢) A proportional decrease in
velocity.

(d) A proportional decrease in prices.
Codes :

GV
(B)
(C)
{0

(a) and (b) are correct
(b) and (c) are correct

{(c) and (d) are correct

(b) only

According to classical economists of
equilibrium level of aggregate output
and employment determined by :

(a) Aggregate supply

(b) Aggregate demand
{(¢) Money supply

(d) Money demand
Codes :

(A) (a) only correct
(B)
©)
{3

{b) and (c) are correct
(c) and {d) are correct

(a) and (b) are correct
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(&)
(B)
©
(D)

(a) B0 (b) BBFSS
(b) B (c) SOGII
(©) Bk (d) SO
(b) Srlg3o

Sopmah 8% 3o BeEsH DY
a&)8 $8asn &R SHHFegsw
QowoBB :

(a) DY I,
b) BDY BswoE
(€ &35 %3,

(@) (5% Bsmof
&8 :
(A)
(B)
©
(D)

(a) SRS BOTHO

(b) 0BG (c) HBFPID
() $0805 (d) KBTI
(a) B (b) SOEID
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14. The indicators of human development :

(a) Life expectancy at birth
(b) Death rate
(c) GDP per capita (PDP US$)
(d) Population growth
Codes :
(A) (b) and (¢)
(B) (¢) and (d)
(C) (a) and ()

(D) (d) and (b)

15. Which of the following committees in
India are formed by the Parliament to
control public expenditure ?

(a) The Estimates Committee
(b) The Public Accounts Committee

(¢) Committee on Public
Undertakings

(d) Committee on Public Expenditure

Codes :

(A) (a) and (b) only
(B) (b) and (c) only

(C) (a), (b) and (c) only
(D) (d) only

16. Which of the following is/are inter-
industry Trade Model ?

(a) Adam Smith

(b) Ricardo

{c) Neo-Heckscher-ohlin
(d) Neo Chamberlin
Codes :

(A) (a) and (b)

(B) (b and ()

(@) (c) and (@)

(D) (a) and (d)

Paper-Il

14.

15.

16.

é:viéavé)a')e)g QrHBen :

(8) DHens Dod £18 eo

b)) HSe Béw

(©) Bol6 Bpe 28 483 (PDP USS)
d) ey 509

EGE‘J :

(A)  (b) SoBd(c)

(B)  (c) SoBas» (d)

(C) (a) 2B (c)

D) (d) S8 (b)

g S 3ot Léefoé‘s 550530.‘{)&
NaboBoierdd Eotn dovyin Fdko
Bod Enden 9 ?

(@) ooSre Epd

(b) (52585 oF0ef) Eod

() (Babi BoK Boge End

(d) D0y S50 S

ESE“) e

A) (@) B (b) S

(B) (b) 5865 (c) FmESHh

(©) (a), (b) S8 (¢) S

D) @) SeEd

& 808 VE° DB/DD wos5-58F5
TGS S ?

(8) o> §

®) oset

(¢) 3JE5-8.2pS 855
(d) DPogsS $s
555‘3 .

(A)  (a) B (b)

(B) (b) 8™ (c)
(C) () HoBaso (d)

D) (a) B (d)
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17.

18.

Paperdly il BT B e

Which of the following are the functions
of the commercial banks ?

(a)
(b)

Mobilisation of deposits
Lending Loans

(c) Issue of Licences

(d) Printing of Currency
Codes : |

(A) (a)and (b)
(B) (c) and (d)
©)

(D)

(d) and (b}
(b) and (¢)

Which of the following are used in the
measurement of coefficient of
Variation ?

(a) Mean
(b)

(¢) Median

Mode
(d) Standard deviation
Codes :

(A) (a)and (d)
B)
©

(D)

(b) and (d)
(c) and (d)

(a) and (¢}

17.

18.

(TR AL AT

Bod 8 DD ardey wrodHe DHen ?
@ &FesS IdFS Scheo
b) csaeée;sa Sooandy BahHero
(@ BdHoH b Bebeo
(d)

g5 :

SR SwiBoisio
(A) (a) 000 (b)
B) (o) Bk (d)
(C) (d) Bcsw (b)

D) (b) S6c3w ()

DS Hese d&ohes® Bod 8k
IBD ABRPAFL ?

(a)
(b)

®O¥ B0
svEso

(©)
CY
5 :

éocﬁéﬁéo

DosedE Diseso
A) () Sk (@)
(B) (b) Bk (d)
(C) (c) bcio (d)

(D) (a) B (o)
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19. Assertion (A):

A doctor can
discrimination.

practice price

Reason (R) :
A patient cannot resell his treatment.
Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true but (R)
is not the correct explanation of
(A).

(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

20. Assertion (A) :
Business cycle is a phenomenon
involving the expansion and contraction
in economic activity.
Reason (R) :
The sequence of phases of business cycle

are prosperity, recession, depression
and revival.

Codes :

(A (A) is true but (R) is false
(B) (A) is false but (R) is true
(C) (A) and (R) are incorrect

(D) (A) and (R) are correct

P‘é.perzll_' R I -.fa_. gt foy 2o Rk

19. (BS>ES (A):

20.

a8 Beigtd §8 8);:5559 FBoSrets.
% (R):

a8 A 33 D885 HPoYEHO Bawdo.
5, :

(4) (A) 850 (R) Dokr 03 53520
Bk (A) & (R) J0FS D58es.

(B) (A) %8 (R) Botr &880 w09
(A) & (R) S6&5 D80 ok,

O (A) >R580 52)) (R) o888,

(D) (A) oarssEm = (R) To555.

B85S (A) :

888 EEerdre D58, ¥08°%S wome
SDRSE TS S,

HY R):

TG SE B Sdew QoY) &Y, ey
oo, SroEn Sobasn JHIBESEw.

s, :

A (A) T35 =0 (R) ov5550
(B) (A) oS50 0 (R) So555m
(C) (A) 5060w (R) oS

(D) (A) $8a (R) Bokr 553
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21.

22.

Paper-II

Assertion (A) :

Innovations and entrepreneurs play
important role in  economic
development.

Reason (R) :

Entrepreneurs introduce innovations.
Codes :

(A) Both (A) and (R) are correct
(B)
©)

D)

Both (A) and (R) are not correct
(A) is correct but (R) is false

(A) is false but (R) is true

Assertion (A) :

Operation of vicious circle resulted in
underdevelopment.

Reason (R) :

In underdeveloped countries many
people are poor and they are unable to
save and invest to break the vicious
circle.

Codes :

(A) Both (A) and (R) are true and (R)

is correct explanation of (A)

(B) Both (A) and (R) are true but (R)

is not correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

21.

22,

Do

[N AN MK

IDBPES (A) -

es%svéaée)%é’s 35F0yde0  Hod
atigtretoes [Sion S SO,

D R)

adghmsen SESgseH 56560 TR,
S, :
(A) (A) $BE» (R) Botkr avgares
(B)
(C)

)

(A) $o8cw (R) Bor ezrRaren
(A) 5838 =R (R) H0GHRE =2

(A) $BG0H 505 =2 (R) H6THHO

(HOFHS (A) :

Dadech S8 65 $08FH Idsaren
S35,

HH R):

©0dK)3 BoKSd) Bood® orerdiod
Hsardr D% S0 egetdes BaLBD
H00050 DiPesER FosB.

5553 :

(A) (A) $o805%0 (R) Both I0@od)

8050 (R), (A) SOS DSes

(B) (A) S0 (R) Bod IB0Fod 28

(R), (A) & 3BT DSBea
©
(D)

(A) $0R3B 08 (R) SOGORE 57

(A) 3630EB =% 8 (R) SR8

R

R Bogi,
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23.

24.

Paper-ITi i S L Lty

Assertion (A) :

Sustainable development is necessary
for future generations.

Reason (R) :

We are exploiting the natural resources
recklessly. There is need to protect
environment.

Codes ;:

(A) Both (A) and (R) are correct but

(R) is not correct explanation of

(A)
(B) Both (A) and (R) are true
©

D

(A) is correct but (R) is not correct

(A) is false but (R) is true

Assertion (A) :

Vertical Federal Fiscal imbalances exist
in India.

Reason (R) :

Inestic revenue powers alongwith
expensive and expansive functions were
given to the states compared to the
Union Government.

Codes :

(A) Both (A) and (R) are correct and

(R) is the correct explanation of
(A)

(A) is right but (R) is not the
correct explanation of (A)

(A) is correct but (R) is false
Both (A) and (R) are false

(B)

(©)
(D)

23.

24,

[BOFSBS (A) :
ST &S0 Dey 5‘2)% N85,
Y (R) :

DIB0 (I8 H380% (¢
JNTeR0D ?owagén étwegééea a’aﬁzﬁgea
ORDBH5.

555‘3 e

(4)  (A) 598050 (R) Dol awegssn sod

(R), (A)8 585 D&8es 505
(B) (A) 2000 (R) Borkr ToHawen
©) (A)BBEEH =0 (R) $OGHA 500
D) (A) I8P 0 0 (R) $6GH%56
BOES (A) :
PBEEE® Sy wons®s ORTH S,
THH R) :

oot DY) TG (Bbaen SaH
3080 Hba VodBo HIHEY) Dpes®
PED OTHSHRO EOAS TPl wBTEIDODH
o0XRDEDD.

555‘3 :

(&) (A) 50050 (R) Bo&> S0

Ban (A) H (R) I8FHS D58ee

B) (A) ROGHIB =) (A) B (R) BOToS

NS3Bes 5%
©)
(D)

(A) SOFHB D (R) SBGID
(A) 58050 (R) Botr SOGHD =)
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25.

26.

Assertion (A) :

International trade can take place
between countries with identical factor
endowments.

Reason (R) :

Product differentiation forms the basis
for international trade between
developed countries.

Codes :

(A) Both (A) and (R) are true and (R)

is the correct explanation of (A)

(BY Both (A) and (R) are true but (R)

is not the correct explanation of

(A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) 1s true
Assertion (A) :

There is inverse relationship between
money supply and value of money.

Reason (R) :

The value of money decreases as prices
rise,

Codes :
(A)
(B)

Both (A) and (R} are not correct

Both (A) and (R) are correct and
(R) is good explanation of (A)

(€)
D)

(A) is correct but (R} is false

(A) 1s false but (R) is true

Paper-11
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25.

26.

LTI I

BOFES (A) :

By 6B oD SOA &%) Do B
@oéﬁt’gédg TB0 D)HOB.

S (R)

©0dH IJobs B gy woSTHAH
méavmaé 58y G50 SomergrEorne
aotnob.

555‘3 :

(A) (A) 59855 (R) Bokr T35SI

$Bci (A)% (R) $SO&0S e

(B) (A) ok (R)Bo&r arisais s

(A) & (R) 98G5 Db
(©)
D)

(A) 3550 520 (R) e9arRdsdn

(A) ©ardHEn 520 (R) aPRdsm

BOFES (A) :

(55 9 8 B0 (555 DenS ot DE
Yomoko aob.

g (R) :

Ghen BN Fob (B8 Dend DAV,
YA
(A)
®)

(A) s (R) Bolr B3

(A) 8050 (R) Dodr $8&Eodd
508050 (R), (A) & £09 D556

(C)
(D)

(A) $BGSO =2 (R) HOGIO 5o

(A) $8G058 52 500 (R) $0FRH

B-05-17



00020

27. Assertion (A):

28.

Paﬁer-ll

Business reaches to peak point in the
prosperity stage of Business cycles.

Reason (R) :

Higher profits leads to expanded
business in prosperity.

Codes :

(A) Both (A) and (R) are true and (R)
18 the correct explanation for (A)

(B) Both (A) and (R) are true, but (R)
is not the correct explanation for
(A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

Arrange the following market models in
chronological order :

(a) Stackelberg Model

(b) Cournot Model

(c) Bertrand’'s Model

(d) Kinked Demand Curve Model
Codes :

A (@, ®), ©, @

By ), (), (@, [d)

© O © @), @&

D (), (), b), @

o gk g ST
-'-F:v\,.-'—ﬂ-\-l‘ﬂ‘v.l"h—7ic

g e L A "_.7'. 'J_-':..'-;d"_’!-

] .__.,_..,;_.n...,

27, (BOFES (A):

28.

rarcds ke
) 1-3"‘**’

TIPS Seeedtd PerriEds® axdrso
SeeEons TehEod.

HH (R) :

Agrriy 536° ©O5 ergren DY TRP°08
o8 &Jrom.

5553 :

(A) (A) HB6csn (R) Do JS0F@oI
2005w (R), (A) & IBS DH5Bes

(B) (A) H8u» (R) Bolr $BSS, =00
(R), (A) % 8BS DB =%

(O (A) 3BH8, ==0 (R) 58858 =%

D) (A) TG 506, 520 (R) JBIG

(Bod ST SXrTPeDH o I Evos®
@onED -

(@ PESLE SHrar

b) S6ee5 SSovae

(© BEErol SSurar

(d) HoH BOAS Bsrol Bw SHear
g8 :

A (), (), (), (d)

® ®©, @ @

© )@, @ @
D) (d), (c), ®), (a)

] e S R SRR Lk W
.-'-!e_, Atpragin gl s e

PRt :.; w,_ ikl TR e B-05:1 7




29.

30.

31.

Arrange the following in the

chronological order :
(@
(b)
(c)
(d) Life cycle hypothesis
Codes :

Ay (@), (), (o), @

B) (9, (a), (b), @)

©) (b)), (), (d), (@

D) (@), (©, B), (a)

Relative income hypothesis
Permanent income hypothesis

Absolute income hypothesis

Arrange the stages of vicious circle of
poverty in sequence :

(a)
(b)
(c)
(d) Low capital formation
Codes :

A) (@), (@, b))

B) (©, @), (a),

(© ®), @, ©, (@

D) @), o), @), ©

Low saving
Low income

Low investment

Arrange the following tax incidence
theories in the chronological order :

(a)
(b)

(¢) Concentration theory
Codes :

(A) (a), (c) and (b)

(B) (), (@) and ()

(C) (a), (b) and (c)

D) (o), (b) and (a)

Differential tax incidence theory
Diffusion theory

30.

31.

KR EEE I B

29. (@ob AV o I Eod® eih)Hm

(@
(b)

FDE emrch H08e)S
THRS OTPcD JOBS
(€) DEDE eTead DOEeS
d) &£53 S8 55§0°)26
s, :
(A)
(B)
©)
D)

(a), (b}, (), (@)
(e), (a), (b), (d)
®), (c), (d), (a)
(d). (@), (), (@

mdellaly DED0HENSED Sdod 568
B0 Domen Botosm :

()
(b)
(c) oo %'oé.;ega)&

d) o) Srodd Sodabain
85 :
(A)
B}

©)
D)

o) FHH
V) STPAH0

(@, (o), (b), (d)
(), (), (@), (d)
(b), (d), (0), ()
(D, M), (a), ©

& (§od DY) a8 ?ow;oéé»eé) & s
S5 BHoS® wntym.

(@) PooHs By 98 RTpodE®
(b) D38 ?oagoéé::

(c) TBolbssem RErosn

g5, :

A4) (@), (c) 8cs (b)

(B) ®), (a) Hodako ()

(C) (a), (b) 6% (c)

(D) (c), (b) X0 (a)
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32. Arrange the following economists in a
chronological order :

(a) J.M. Buchchanan
(b) J.B.Say

(¢) Henry George
(d) J.M. Keynes
Codes :

Ay ), (), (a), @
B) @, M), @) ©
©) (c), (), (@), (2
D) (a), (@), ©, B

33. Arrange the following things in their
chronological order :

(a) State Finance Commission
(b) Planning Commission

(¢) Union Finance Commission
(d) Deshmukh Award

Codes :

4) (a), (®), () and (d)

(B) (), (c), (@) and (b)

(© (a), (©, (d) and (b)

D) (@), ©, (b) and (a)

34. Arrange the following approaches to
balance of payments in chronological
order :

(a) Monetary approach

(b) Elasticity approach

(c) Price-Specie flow approach
(d) Absorption approach
Codes :

A (0, M), (a), @

®B) (), (b), ), (&)

€ (@), ®), @ @

D @), (a), (d), {©

PR

32. & (oBAHDES 6BE Jgod SolEH
SBHE® @B,
(a) B.0HD. SIS
b B
© 0 =
@ =B &y
&5 :
a) ) (), @, @d
B) (@, ®), (a), (©)

©) (@, ®), D, @
(D) (a), @), (), (b}

33. & (Bod DiRred T8 AwE) o SHD
Eibo6® et :
@ 55 peS) s0as
) ZPAOR SHES
© nAHS P SWES
(d) TElny o8
558 :
4) (a), (®), (c) b (d)
B) (), (o), (a) oBc» (b)
(C) (@), (o), (d) Sdcs» (b)
D) (@), (©), (b) 65 (a)

34. & (Bod BPoPe IR JLHODH o S
ES06® eBtsm
(a) (B8 588
by aesEisEg 558
© FB-Pd B 558
@ Robs vge
g5 :
@) (), ®), @, @)
(B) (o), (), (D), (@

©) (@, ®), © @
D) (), (a), @),

; g 1 YR A e Nl e T L SRRl SR
SR A ST SR
i ] Fre T = 8 M S TR AT ol




35.

Arrange

the following financial

institutions chronologically according to
their establishment :

(a)
(b)
(c)
(d)

IFCI
ICICI
IDBI
SFCs

Codes :

(&)
(B)
©
D)

36.

(a), (¢), (d) and (b)
(c), (a), (d) and (b)
(b), (c), (a) and (d)
{c), (b), (d) and (a)

Arrange the following steps of method

of estimating ‘Rank correlation” in a
sequential order :

(a)

(b)

(c}

(d)

Find the ranks for given values of
the variables.

Find the differences between the
ranks of variables.

Sum the squared differences
between the ranks.

Square the differences between
the ranks. '

Codes :

(A)
(B)
©
()

Paper-11

(@), (b), (o), (d)
(b), (a), ), (0)
(@), (b), (d), ()
@, (), (), (a)

35.

36.

16

A

Bod 1 Sogeod o8 .3;;’3:6 P80
oo Edos® TR :

(a)
(b)
(c}
(d)

IFCI
ICICI
IDBI
SFCs

%65‘3 .

(A)
(B)
(©
)

(@), (), (d) B (b)
(0), (a), (d) SoBcSw (b)
(b), (c), (a) HoBAS (d)
(c), (b), (d) 8% (a)

858 HirHoos s ol Saintdt
3R (Bob Sgesd (Eagore edtydn :

(a)

(b)

(c)

CY

Seposre  Dended: 8ol

B,

Serosre E8e g B ééagﬁ"mﬁ:
BP0,

80 g &) SgEere Speosn
Eroroty.

5°8e SEEIR) HEgred Strod
Saswto.

EGEJ .

(A)
(B)
(C)
8

(a), (b), (0), (d)
(b), (a), (d), ()
(a), (b}, (d), ()
(d), (0, (b}, (a)
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37. List-1

List -II 37. edoe -1 Do - 11
(Criterion of (Economist) o
Welfare) ($08S AepahEsn) (02538)
(8) Growth of Wealth () J.R. Hicks (a) Rodd HR @) Bed §
(b) Diminishing (i) V. Pareto ®) §&°ros (i) D. ot
Marginal utility (PFBradSn
() Economic Efficiency (iii) Alfred (c) B8 JI8S (i1i) @SBE Sr8S
Marshall © @ . ?
(d) Compensation (iv) Adam Smith @ :(;3936;,’555&» _ GO 2)&5
Codes : 555‘) :
@ ) @ @ D
@ @ G G Gv) @O @@
® v G O G B (v i) @ 3G
w) (i) @ ii
‘ _ (© Gv) Gi) @) @)
SRR, ® G O ) G
D) Gi) @ Gi) 3Gv)
38. erdar -1 edoe - 11
38. List-1I List - I1 (8) K8 eoad 650y () Bﬁmﬁrgfa
(a) Past income (i) Matthews
hypothesis (b) Doy Dyerén (i) Sodoread
(b) Stock adjustment (i1) Classical SR @gé 3§en
Model Economists (©) THaf ofosso (i) &S B0
(¢) Rational expectations(iii) Duesen ?0630650
theory berry
. (d) (88580 S (iv) oof
(d) Only money mattera (iv) Robert Lucas @"ai:aaa,g,é Kb p—s
Codes :
odaes §SE‘) .
@ @ @ a) v @ O @ G Gv)
B @G @) (v (i) (B) (i) () Gv) (1)
(O Gi) @) @ 3Gv) (O Q) G @ 3G@v)
D) Qv) (@) Gy @) (D) @(v) Gi) @) @)




39. List-1I List - II
(i) Schumpeter
(11) Karl Marx

(iii) Choice of
technique

(a) Surplus Value
(b) Innovation
(c) Harrod

(d) Labour intensive (iv) Warranted
rate of growth

Codes :

(@ () (© (@@
Ay (i) Gi) v @
B) @ ai) () )
€ G @ Gv) (Gi)
Oy (i) @) @ av)

40. Match the following items in List - I with

List - IL.
List -1 List - 11
(Title of the Book) (Author)
(a) The Wealth of i) RA-
Nations Musgrave

(b) Theory of Public

Finance

(c) Public Principles of (iii) Adam Smith
Public Debt

(d) General theory of
Employment,
Interest and Money

Codes :

(@ (b) (o) (d)
(iv) @iy @ @D
@) Gy v @
iv) @ @) @i
(i) @ @) (D)

(i) J.M. Keynes

(iv) J.M.
Buchanan

(A)
(B)
()
D)

Paper-II

39.

40.

18

RS A

erdar -1 arfige - 11
(a) den Vend 1 Hod&d
(b) SHBe)Pen (i) 5§ S8
(c) S58& (iil) &$H\8 o’ngéw
Q0¥
@) |F oSS (iv) FEoBE
ée)% Bew
%8, :
(a) (b) (¢} (d)
Ay Gy @) Gv) @
B @ @ ) @)
€ ) @ Gav (i)
Dy @i () @ )
dee - 1 6% 9x) +8) erdee - 11 &
28580,
erdae -1 edee - 11
(oS D) (SSonden)

(@) 83§ «f IRy () ©86.9 PR

() BcHb &F HYE (i) B.odS. 8§
PR

(0) 85 BRYDS) o (iii) & P&

%95 BeS.

23585 HAHO ©h (iv) B.0H%.

DoardoDots, 205°58

20609 @of AT

55 :
(@ ((b) © @
(iv) (i) (1) (i)
@1y () vy Q)
(ivy (@) (i) (i)
iy @ av) G

CY

(A)
(B)
(©
8
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41. List -1

List-11

(a) Preferential Trading (i) European

Arrangements

(b) Free Trade Area
(¢) Customs Union

(d) Common Market

Codes :
(a)
(1)
(i1)
(iv)
(v}

(A)
(B)
(©
D)

(ii)
@)

42, List-1

(a) The Median Voter
Model

(b) Lobbying

(c) Rent Seeking
(d) Political Markets

(b) (c)

Economic
Community

(ii) ASEAN
(1) LAFTA

(iv) Common
Wealth
Countries

(d)

(i) (iv)
(iv) (iii)
(i) (1)
(i) (i)

(i)
(1)

List - II
(1) G. Becker

(i) Robert
Baldwin

(iii) J.M. Finger
(iv) A.O. Krueger

41.

42.

erdoe -1 erdage - I1
(a) (oS TS (1) &%
ayorren @gé Sdreso
(b) *xomy oS () ASEAN
{Frodo
(c) 855y creRSHS (iii) LAFTA
(@) alyl o5 (iv) S I
Baven
555, :
(@) (b) (¢) (d)
Ay O @) @) Gv)
B) () @@ Gv) 3Gi)
© (v Gi) @ @)
D) Gv) G G @
rdae - I edee - 11
(a) DBAHS L& (i) B 385
S
M) e=dowoh (i) To2f arSdS

(c) Boes H&cR
(@) S50 oeadad

(iti) B.cH. oS
(iv) 2.2, (Boowxb

for Protection éﬁagfé.pﬂ
Codes : 8 -
@ () () (@ (a) (b) (c) (d)
Ay O @) @) G A O (v @) @)
B) @) (v () (D) B) @ (v () Gid)
€ @) @i (v) @) ©€) G Gi) Gv) @)
@) G Gi) @ Gv) D) Gi) GiD) @ ()
Paper-I1 19 — B-05-17




43.

44.

Paperll

Identify the assumptions of Factor Price
Equalisation Theorem :

(a)

Linear Homogeneous Production
Function.

(b)

Absence of Factor intensity
Reversal

(¢) Perfect mobility of factors

between countries
(d)
Codes :
(&) (2), (b) and (©)
(B) (), () and (&)
(©) (a), (b) and (d)
D) (@), (c) and (d)

Incomplete specialisation

List -1 List-II

(i) Rural
Development

(a) Income tax

(b) RBI (ii) Direct Tax

(¢) Foreign Trade (iii) Central Bank

(d) RRBs (iv) Engine of

Growth
Codes :
(a) (b) (c) (d)

@ G G @ O
®) @) @ @O )
© @ @ @) @
D) O @) @) @)
e R

43.

44,

ARG AT

88 SR §58 SISE depodo S
PDaireo HBoHE :

(a) DEE Berdodh aéHd Heo.
() &P 68 oSS DHBcHE BE
eptatel
(@) Bevo Dy sbsred BoRpyd KIS
e
(d)  wRodry @888t
85y :
(A) (a), (b) 20835 (¢}
(B) (b), (c) 0B (d)
©) (a), (b) B (d)
(D) (a), (c) DB (d)
erdloe - 1 erdae - 11
(a) swead 58y (i) (e
*D8

(b) Bestin arob
(©) DB SBESw

(i) (HSgE By

(iii) ol 2o

@) @robad (e (v) HB T
pothen for el TV

555(3 :

(a) (b} (c) (d)

@) @i (v ©

(i) G) @ @)

() @ G G

@ G) @) Gv)

(A)
®)
(©)
D)
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45. Matchtheitemsin List-I with the items

in List - II.
List - I List - 11
(a) Central Tendency (i) X>Med>2Z
(b) Dispersion (i) Z>Med> X
(¢} Positive Skewness (iii) Mean
(d) Negative Skewness (iv) Standard
Deviation

Codes :
(@ (b) (© (@
(A) (i) Gv) @) (@)
B) @ () () (v)
© v Gii) G) @
D) Gi) @) @) @)
Fiscal Rules : Lessons from States

Most states and
maintained the target fiscal deficit level
(3 percent of GSDP) and eliminated the
deficit after the
introduction of Fiscal Responsibility
Legislation (FRL). However, the FRL
was not the sole impetus behind this

achieved

revenue soon

impressive fiscal performance.
Acceleration of GDP growth, increased
transfers from the centre, decline in
interest payments and increased central
CSS contributed

significantly to such consolidation.

expenditure

Desisting from splurging rather than
belt-tightening was probably the real
contribution of the states. Fiscal
challenges are mounting because of the

pay commission recommendations,

Paper-IT.

45, D@ - 1 59 womed == - 1659
oo’ KORFenyHw.

oy -1 erdge - 11

(a) BolBod BHB () X >Med>Z

(b) DJeodo
(c) éa‘é&é Sadadgo

(i) Z>Med>X
(ii1) o3 Sogsoo

(d) ey BAMgo  (1v) (@eSeBE
ABePHo
558 :
(@) (b) (o) (d)
@) G @ G i)
B 0 G) G v
© Gv) GiD) Gi) @)

D) G G @) @)

Fiscal Rules : Lessons from States

55 ariigee Sep$odsin oI ooldpen
5% 6% Jpow (2.05%.8.26° 33850) 3 F60D
FI;AoSOI ME orad oo grem
Fohowron. 0 atndod sty S8HOAS &%
3285% Bdeo 8y BG5S Q0 SrE@D
Dan)irsrosd. o8 2.8.5. §86% Sxsoso,
Sols aleranopest 1HIHS, 3¢ BYoHe
$rpe, Bols Ssre GuH DHHGSe InBBE
54 2885008 Kdahore & rtso Bdrom. (PHensy
PENS® SSeo Sarin BabedD 8, Saro
a)ti)‘)e::é) e‘ﬁgodéao ovtaé [‘_Jaaiais'{se) Dezoed ée)ﬁ),m
BYBED. 38 S0 BIFse, 5Ed &,
(UDAY) &g erog woe ?.363:‘%:‘5326& BOosyen
FoBTI sBmive Hod 8 Sarey dLysme
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46.

47.

slowing growth, and riéing payments
from the UDAY bonds. Moreover, macro
economic conditions will not be as
favourable to states as they were in the
mid 2000s.
market based discipline on state

Going forward greater

government finances will be a major
imperative. And, the centre must take
the lead not only in incentivising fiscal
prudence by states but also by acting
as a model through its own fiscal
management.

- Economic survey 2016-17, P.113

The targetted fiscal deficit of 3 percent
of GSDP was fixed by :

A
(B)
©
D)

The Central Government
National Development Council
Fiscal Responsibility Legislation

10th Finance Commission

Identify the reasons for the impressive
performance of the states with regard
to fiscal deficit.

(a) Fiscal Responsibility Legislation
() Accelerated GSDP growth

(¢) Increased transfers from the
gtates to centre

(d)

Increased allocation through
centrally sponsored schemes

Codes :

@) (a), ®), @
®B) (2, (), @)
© ®) ©, @
D) (a), () @

..'.nﬁg';:-":

e

A

2BHH. woBreE 2000 S B880s°
et Spo eeaé aa‘oé:en oD oo
©HEPOOIT eodéﬁﬁézﬁa £B%E° TG B80S
D8 Sowohod éngTéS oqr8d (FBEm
e5EES JoBT dod. LB TEpeD 358

| DBE808RS D SEged BFEyo andys FHores

Too &5 Fodsty Iradrdgo ooio°
eﬁd,ga‘)bé‘éon" eriHed aod.

46.

47.

ogore AowodS GSDPE'D 3 FEsn
360 26880358 :

(A)
B)
(©)
D)

oS (S0
wécﬁwa‘@g Hookd
SEGUAT RN
105 98 EH04S

& g&Pend Sowood TEpe TN
50 HB5S Ko dwred HBowhE.

(a) 5% ergige Sko
)

© orlposod BoladE DBAI
2EEPONOYLD

3r5Bo8HS GSDP HB

(d) Bol¥o H8FHOS I Ty

20A% Beronoden
&g :
A @, 0, ©
®) (@), ®), D
€) @) © @
D) (), ©. @

Pty

P T I T e o o TEEE et e e '
"‘ "ﬁx} -'_. 3 AR W, AL S F st o 1 Ty
Erairte, Tafart ey Tt AT g
G T AT R R e, BT A

g B /
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48. Assertion (A):

The centre is facing great fiscal
challenges. :

Reason (R) : '
The 7' pay commission has
recommended higher pay scales for the
employees.

Codes :

(A) Both (A) and (R) are true and (R)

is the correct explanation of (A)
Both (A) and (R) are true but (R)
is not the correct explanation of

(A)

(B)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
49. Arrange the following in the
chronological order :
(a) Centre being the Role model for
the states.
(b) Increased transfers through CSS
(¢ Increased transfers from the
Centre
Codes :
A) (), (a), (0
(B) {(a), (b}, (c)
©) (o), (@), (b)
D) (o), M), (@
50. List - I List - 11
(a) GSDP () DISCOM
(b) GDP (ii) States
(c) CSS (iii) Centre
(d) UDAY (iv) Schemes
Codes :
@ ((b) (¢ (@
(A) Q) () @O @)
(B) () @) vy @)
€ vy @ (iit)
M @ (v Qi) ()
-00o0-
Paper-1T.

48, (HBSS (A) :

49,

50.

g

Zolo grd 8% SIS BB
Y (R):

7% IS Jodwo a&ivon i) S
D) BRod,

&5, : '
(A)  (A) 5B (R) Botsr aeiaed (A)
% (R) 5605 D556

(A) S8a% (R) Boiw @‘_’:ga"a (A)
& (R) 56808 D580 %

(4) 50 =B (R) omgs0

(A) 97850 =0 (R) s*%%0

(B)

(C)
D)

Bob ) sPo S EH0os® ety :

(a) oo Bolo 888 SSowere

-Telnyl 91
() CSSmrpe 2OAS aeranoden
(©) Boso H08 BOAS wEeranoHen
g :
A (), (@), ©
B) (a), ®), (©
© (@, (a), ®
D) ©, O), @

efloe -1 - e - 11
(a). GSDP. . . () DISCOM
(b) GDP (i1) m@m
() CSS (ili) Solso
(d) UDAY (iv) Hsren
8%, :

(@ () (0 (@)
A) () G @ (Gv)
B) G @) @Gv) @
© Gv) @ @) (i)
M @ Gv) (@) (i)

-00o0-
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